status test beam analysis

e All data can be read out
e Charge sharing was shown on IWLC2010
* Needs to be recalculated in polar coordinates

|Entries 8710

* Pad’sgaps0.2m e
* 50 um bin teo

1604
140F

 Charge Sharing .-

. 100
in 4 Edge case 80
T 60F
40
20}
o

17500 18000 18500 19000 19500 20000
Y, [mkm]




Alignment

e Alignment problem in Telescope

e New program provided by Hamburg (just
started)
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Before Alignment

Dig X 1 2 ResDig X 1 | Dig X13 I RegDig_X_2 Diﬂ X273 I ResDig_X_3

Enirias 36817 Entries I6B1T Entries RLE

.E [ Mean 208 6 g [ Mean 434 8 £ F Mean -T03.4

o500l AMS 5158 e§oor RMS 2645 6800 RMS 192.3

0o 3 nar 174724 a ¥indf 3403767 & f ¥ indf 3383048

s | Conatant 1.0748+04= 71 o [ Constant 3401+ 24.4 s [ Constant 4755+ 34.7

5 | Mean 135204 Sg00E Mean  -492:13 58001 Mean  TODE+0.9

ago0f- Sigma 7817 0.30 £ C Sigma  2352+1.4 T Sigma 168308
z | ool oo
6000} - .
i 3000 3000
40001 B o
- 2000 2000—
2000} 1000F 10001

A

4

0o 00 00
Res, [um] Res [um] Res, [um]
Dig ¥ 12 ResDig_Y _1 | Dig Y 13 I ResDig_Y¥_2 Dig Y 23 I ResDig_Y_3

Endriag 36817 Entries I6B1T Entries IGT

.E i Mgan 1525 E-'EEID_— Mean 1315 T_gﬂﬂ F Mean 1334

oBool- R_MS 50.36 g r FleS 267.8 g r RMIS 201.8

@ | 3 nat 2205 123 ¥ [ ¥/ ndf 3498762 gfoof- ¥ Indf 3586142

Tt Constant 1.0838+04= 73 5800~ Constant 3427 24,5 o [ Constant 4736+ 34.5

3 Mean 7242+ 0.44 E o Mean 1331+ 13 s [ Mean 1408 £0.9

sa00- sigma 76055 0.31 C Sigma  2327+1.4 5800 Sigma  167.4+0.8
3 L 4500— s [
Z r L =
G000 C 4000 :—
- 3000 -
i F 30001
40001 2000F :
- - 2000F
2000 r o
C 1000 1000

B 1 1

&

00 - - 1000 200 0o 0oo 20 i}
F-'.es\, ] Res_r [Lum] Res\_ [wmn]



Center of gravity method
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BeamCal Geometry

:
* 8 sectors (8 subsectors) :z’"

e Pads with proportional j

sizes, last one 5 mm 5} .

» Approximately the same .

* Tested with algorithm 20 15 10 5 0 5 10

 Few rings are not sensitive (has to be find out)
e Run and compare with other geometry (plan)
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